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Hot

o
Mo |7 & sHUYE Hl 10 F7E(F7HE)
Power o N
26 Hanress Training (Z 0]:15m) 80-100m b T| AlEH|
Speed, 23
. CHEZ |, M|
27 |K|&2=, Parachute Training(Z=0] 2t AH2| CHE) 80-120m A3t
o
(=]
NI S ‘ A Of X}
28 =c58% Water Exercise (2=, 2 &, 3{2|) 1o Tl 2tgYl
QoY 32X 7 TEZ7)
29 |X|= Speed Speed Endurance 120-150 EM T, AlBH7|
. e 7|, BT,
30 |Z2X|+H,2H Strength Endurance(elastic bend Al-&) 10,15,20%x o4 7|
— O 1
A fA 8l . 10CH x2sets Chad7|.2bA 7],
31 T =% T'; > Hurdle exercise(10LCH) H | < |
aESpapAgel (67}X]) 2td 7|, Algt7|
6-87{(67}X
=7t Power, hurdle P! . . M *H( :[ .|=_) w o TE7IRHYT]
32 e Box & hurdle Plyometrics exercise M0 2t = |9+g7| AlBH7]
7t CHE -

1) 100m, 200m, 400m Z=0f 2} =&
2) &, of, d8E, 23480 Ml =Tl T,
3) M= 721Q] Control test0f| S EZut0f| et ETQ| S, ALl 2=, S+, FO| CHE
4) ZtF=7| 80| ojet £ S E HE010] A ASiCL

5) MElol= d71=2tXe EHE S84 SIC
6) 2ot0|3 = H| A|[E0| = ATt

O L

of &, A, Z&, 3=+, FO| CIE.
| W, 72|, Z &, sl Yol OHE
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Weight traiaing?| F7|8 =2

7 57 g ¥ 7 % 4 7] A 4] 7]
T = & 9d7] 2 A3

A | Fa A9 | Fd (A% Fd (A9 | Fd
ENDURANCE 70% 60% | 40% | 20%
STRENGTH 20% 20% | 30% | 45% | 45% | 25% 20% |20%
SPEED 10% 20% | 30% | 30% | 15% |20% 15% (10%
POWER 0 0 5% 5% | 40% | 55% 65% |70%

* Weight Training2 =9| 4Ejf W2} 2140t SF2 ZHOHL

* H}EAI HJ—P:}| xS _:’If_l’l‘:lﬁ_llif
_____ F 530 (4, SHE 27 O ¥2 2ew

* gug:q. ,I_1H,_f7| = 49|§ :c; 1] T 38|(Me| o o C)2 2 2, 3| 22 )
(Strength, Speed, Powers '3l o)

* Mgt 23] Powers TE &)
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ey [N SR 2 ES 2ex1 (@1 |2ea  |me zes
s a3l (o7 (60%) | ©65% |03 |Z® aA
2= os @ed (@1 (35
@o%) | @5% | (80%)
(1)6x1 (1)Exl (16x1
(60%) | 0% | (5%  |Mao| ArEjoy
242 (@42 |(24e |me zEs
Power 0% | ©0% | (85% |TW aA
(33 (F)3x1 (21
(80%4G) Q0% (100%G)




Weight Training & &

(AHAI)
1) chest press
Long Pull

2) bench press
Let pull down

3) Up right row
Pull over

4) Arm curl
Triceps

5) incline press
Lateral raise

6) Dipping
shoulder Press

7) Wrist
Rivers

(3t A)
1) Leg extension
Leg curl

2) calf Raise
Hack squat

3) Back Lunge
Leg Press

4) Total Hip( Front / back)

5) in & out side
Squat

6) box high Knee Step
Lunge jump Squat



Abduction & Adduction Power Wight

1) sit up crunch 1) Power Clean

2) Leg raise 2) Jerk

3) Back hip extension 3) Power Leg Press

4) High per Back hip Extension 4) Power Squat(Calf
Squat)

5) Toroso 5) Snatch

6) Jump Squat
7) Box one leg high
Knee Step



Plyometric training

1) M4 jumps (hill upZHe|)

2) 2steps run one step jumps(H =

3) in place jumps

(1) Pogo jumps (2= TO| 2 jum

(2) Rocket jumps (¥ 2SS 2F7F HY
HA 28 ECHESSE

(3) Tuck jumps (& S

(4) Straddle jumps (2

(5) Split Jumps (Lunge

e

8| &) dorsiflexion(HZ
HIEH| CH3 jumpdtH &2 Q=2

Hin
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2. | &2 =9 HoA e

{3 jumpst X[ 2 SEe| F| X[&E =
90E7X| 9|2 S2tof gtot (SF0f| JumpsiH &

(6) ski jumps (7}-2LH| 1 FE 2Ot XL E jumpotH EE=Ct 2AFS E

$l ez WA SEln =S B L3I

(7) Single Leg Jumps(3tZ 2 S0{A| s{HX|of| £0|1 B &S Jumpdi|M CfE20] E0FEC}H)

(8) Standing triple Jumps(M| St 7])

(9) Double Leg jumps(5'2 20} F7[)

(10) Speed Bounding

(11) drive Bounding

(12) Run Run Bounding

(13) Hurdle Hops (5% R0} 5| & Jumps)
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ot

volume of trainig
S 3{at
= Lo

load & repetition
assigments training
B3 x & v

o -

active recovery
=53825

hypertrophy training
2 Hlrj =

dynamic stretch
Y 2EYH

Al HIEA| T @4

—

l__

Frequency Intensity overtraining
Hle pd - a5}
Energy economy sprinting fatigue
eEa85Y cHA2| T 2
agonist core exercise Resistance
Fs2 sMes XS

anarerobic capacity speed endurance training
2 MA 5 SE X7y

rest period
F40/F7|



dHel 2ol =¥ ‘

,-r-"'-/-’-l-\""‘—-.




c

AR EIRER-CIR-T-E 4

Hot

1. Power

1) Bounding 2) jump Squat 3) £ Jump 4) hurdle jump 5) one Leg Jump
6) Vertical jump 7) box jump 8) E0{ (Short distance) 9) hamess (Short distance)
10) hill up (10m O[L{) 11) Plyometrics 12) weight/| A2

2. Fexinility
1) A Stretch 2) 5H Stretch 3) dynamic Stretch 4) Mat £27| 5) Skip drill
6) high Knee 7) Shoulder glider 8) high Knee driver 9) hurdle(:1 2-g) 10) HZl J

3. Agility
1) 2Z 2) Mini hudle 3) Ladder 4) Light Tubing 5) ankle 5! knee drill 6) Skips 7)
Start 8F2 8) BoxZd



4. Top Speed
1) hill down 2) Hamess 3) Quick 2|2 4) Full Speed (30m, 50m)

5. Power Speed
1) Cycle 2) €4 Tubing 24 3) 5% weight

6. Maxium Strength
1) weight 2) Isomatric 3) functional traningl

7. Musle Endurance

1) Hill up Run 2) tubing distance 3) Parachuter 4) “20f{(light) 5) Cycle(Road)
T2 7) creuitgd  8) A5 boxE T

8. Acceleration
1) 7}==EF80m 150m



8. Acceleration
1) 7F=SEZE=80m 150m

9. Speed Endurance
1) H2lFE 2) cycde 3) interval Run 4) X|=3  5) Tubing(knee Pitch) 2|3

10. Coordination
1) coordination drill 2) G| 3) +H| H 55

11. Pelvic/ Abdominal(Core)

12. Technology
1) start, 2) 7b53, 3) M3, 4) Finis, 5) Knee drive 6) anlde dnll 7) 44 8) Kick dnll

13. Special Trailing (=7t Power& X|= Power)
1) tubing 2) =5  3) parachuter 4) EO0f 5 E3 6) = 7) Sling 8 1
&E st 9) HZvertical jump 10) Plyometric 11)H= Box jump 12) hurdle

£ 9% 5%



30m:
60m:
« 80m:
« 100m:
« 150m:
« 200m:
« 300m:
« 350m:
« 400m:

el 8 58 7=

- B Crouch Start

4,
/.
9.
11.
17.
23.
38.
43.
53.

39-4. 40
41

44 (400M {4)

50 12. 50

00

50 12. 30(24.80)
00 13. 20(38.00)

00 (7Z) 15. 50(53.50)
50 (8.5%)



StartA| ZQ Q@ FALS!

£5 (speed) B&(coordination) &/
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22 (contradiction) e ek
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Start 2H}IE X}A

SHLE ‘2" Mgl 72 EX

o HEE AF —='rHH
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A0ix| 7|5 Sy B
HE &5 Js CH2E =% 7lE
2011 100M 11.84 KBSC i3l 1 CHS| &1
2011 200M 24.35 S 11CHs] 1 CHS| &1
2012 100M 11.97 =4 MfA 1
2012 200M 24.25 CHA3AMICHS] 6 Adiz|x
20124 25 Z&E L|==8= 2713zt 28l X J=S
2013 100M 11.74 ZghisA 1 ASFVIK
2013 200M 24.15 =R 1 ASFLUIS
2013 200M 24.25 SO[A|OlCHS] 3 s




1) C{E| 2 (Extension / Flexion)
2) &= (plant / dorsi )

3) 5{2| (Extension / Flexion)
4) 07} (Extension / Flexion)

=
2. HENH A}
1) 11 2) fRAEE/4) 3) =23H(E/ %) 4) HSHE ()
5) 2 It (D=7 (2) XI5 6) 2|5 fE  7) 2™ 8) H ST (400M)
10) Lactate (Wing gate )& 4t A}

9) =X = (coordination Z4Ap
T1 O (=1 =) o =
3. #{tALIE 8l SHEN(7]8) 2129
3) Frequency. 4) Top Speed

1) Start# 7t 9 EAFJZIHZAXIA|.  2) Stride.
SN 6) HERUZW. 7) HIEEX| T SF 24,

o

S =
S FEICH= M2H0 71X 1 S5FH A o ofEA| T g A9l
7t =tdet Al=lar FTHE S mhets| M H=hohA| & o) of etrt.



knee LCHE|AISZ, CHE| O|& &2

012, &2, bl 2,

achilles



£31 =4 (Hamstring Strain)

Hamstring Strain

W “
A i TN
Buttocks
N .
Injured i
amsftring ) \
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« 1. What is a hamstring strain?

— 1) strainO|2F 2 & O|L| tendonO| WSS Q)
L} tear?} Q= HENS BOCL At == LB
MO 2 “pulled' muscle O|2t1 EECL}.




2. How does it occur?



« 3. What are the symptoms?
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STRENGTH RATIO of AGONIST to
ANTAGONIST

JOINT MUSCLES MOVEMENT RATIO
ankle : tibialis anterior plantar flexion to
gastrocnemius, soleus dorsi flexion 3 : 1
Knee: Quadriceps to extension to
hamstring flexion 5.5 : 4.5
lumbar : abdominals to Extension to
erector spine flexion 6 : 4

should: anterior deltoids to extension
trapezius posterior flexion 3 : 2
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6. Chondromalacia Patellae
(E7M= AE=9315)
*2/iE ¢&0| kT Ora 2 95| &
(1) H| ™A AAM O] 9F= (too much or too little load)
=/0= BO Y 5 K-> MZ J[A}
(2) &S, Crepitus(E4a2|),
30E- Rl JEoM HZe 2 B I S5,
(3)Exercise(Z= Al ZF=9| AfE)
1) L{S&2 &=t (0HX]|8 30 7| 23)
2) SLR (Er2|m A =0 =2|7])
3) Squate (AFE - 30 ~ 45 degrees)
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M.C.L(medial collateral ligament)f| &IO|Z & &tC}.
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223 llopzoas)

OE=sa
(Tensor fasclae
liataer)

famoris)

=2 P L e AT
(Rectus famoris! MRS | '} K

EA2ULH ' AU=ZD
Ullotinial band) 7 / : 4 (Vaslus lateralis)
| . & L=ao
(Vastus madialis) .

A\ PN Wssmslntat%di% \ ; oo iy | {Addusctor
=E2(Sartariug) ' ’ IR Patollr fendar” [ ' fa ; A ey
- P @A Oy . Wi ¥
L gamentur patallas / N
(pataliar fgament)) / : - 1Ple) =R N
(Graoils attachment!

EE0C ST )
{Sartorus attachment
(raflacted))

S0l
(Graciis attachmant)

Plate 9-2 Tt €] 2K (Muscles of the thigh, anterior view)
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ol &: A 2 ox| XpS=: 1x} (= 201041 12§ 03
HS3™X}E: = o
2 =2 (Knee Extension/Flexion)ZE|CHE23= |
; ~ CHE|XIZ2(Extension) CH=| = = (Flexion) A2 - 22 dlE(%) |
= Time(sec —_— —
B el =< ) | HIE | SFS3HMNmM) gl oS = %
== 5 100% 81 100% 10 47%
E= B 93% 79 98% 100% 49%
i74
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o E B sl D0 Ko s A2
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o 50 100 is50 = 200
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Ol & d2x K== 9x} =R} 20134 119 15
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3 ___OiEj&l 2 (Extension) CH £| =2 2 (Flexion) 212 B HIR(%)
- = Time({sec) s —
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Or=a 4 f £48(Achilles Tendon

mnjury)

Achilles Tendonitis

\o/




How can | prevent Achilles tendonitis?

— 1) Achilles tendon injuryE o= 78 £2
HH2 2S= ot/ ™Of| FEX|(calf) 2=1f
Achilles tendon= A& (stretvh)A|71 =LCF}.

— 2) BteF Achilles tendondt ZHEX| 20| tight
SICHH B0 & H2 MEA[HAFTAHLE 20|
L #E2 S

= 7] SO I FAHAZL

—3) Achilles tendonitis@| 42f0| E0|H AHEZ
Sha{ M 28f7Hs 242 TSt



2. How does it occur? HiAl

— 1) Achilles tendon?| 1 A
— 3) Achilles tendonO| tightst 4%

« Achilles tendon2 ZtX}7| 22I0|= S0H0f tear?} A3 HM(OE EH, 74
« MI 2 8}7{Lt sprinting® A|EHE Of tear7t B U0jLiTH)
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Malalignment by Wolf Schamberger







Display Amplitude

N

I
oL

Orthotic

foot scan

L Dynamic Test %2000 oo Dynamic Test  *35.00

= Static = 3D Dispaly

L TR L LN DL e i siee LS S'ES § 8 ke ES
. Left Right

Balance [W IW
ngh/d::nsur l-m? 'W
e [T [T
FF Ratio(%) [ 68.7 [ 68.5
RF Ratio(%) [31.3 [ 31.5
Arch Type |[Normal [Normal
c;fg/'sensor ,ms— mw
Total Sensor [1445.0 [T1479.0
HtoBcm [2045 [20.74
Hto Tcm [2840 [28.80

&

Left Right

Balance [W IW
s o o
E;p;::nsnr [0.628 | [ 0.485
FF Ratio(%) [ 61.1 [ 621
RF Ratio(%) [7389 [ 329
Arch Type [MFlat [M Flat
tgv'gj5en50[ IW‘T ,U']T
Total Sensor [T121.0 [1157.00
HtoBem [17.28 [17.86
Hto Tem [2400 [2480

Display Amplitude
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Pressure distribution with
orthopedic inlay soles




Orthotics &7

=089, 2582 3

Pelvic: Ankle: Foot:

elevation, tilt, inversion, eversion fore F /rear F, RCSP
rotation
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2F =2 (Dorsi Flexion/Plantar Flexion)=|CH 26 =4

|

ey Time(sec) 1 2(Dorsi flexion) =—=(Plantal flexion) AT - 22 HI8B(%)
HIE2ANM) | HIE W72 2 (Nm) HIS T == l
A= 5 23 68% 56 97% 41% 100%
SE= - 34 100% 58 100% 59% 100%
! azyga
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